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(ME ALLOWED: 20 Minutes OBJECTIVE (372 220 = =

‘MAXIMUM MARKS: 15 MTN ’4!- 15= A
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Note: you have four choices for each objective type question as A, B, C and D. The choice -J.,E:J’}C;ouv
which you think is torrect, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbies will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) The number of terms in a standard quadratic equation -4‘_,w7Ju,5Ju.’ ax’+bx+c¢c=0 .:l,l/d/gv&»» (1)
ax*+bx+¢c=0is:
(A) 1 (B) 2 ©3 (D) 4
@) f o, B are the roots of s af Susgul Txt - x + 4 =02ble G B @
7x = x + 4 =0 then ap is:
(&) —= ® = © - o) =2
1 7 7 4 7 !
(3) o + 6 is equal to: -4 a + E 3)
) = B e © 9P o 21P
o o B o G.B
(4) Inaproportion g:buc:d, a and d are called: 4}_72'__&( d » a a:buc:d - (4)
(A)Means 3  (B) Extremes 2/ (C)Fourth proportional 87 (D) None of these UFUde i)
(5) If y* ~1_; then S i -IT b (5)
. K 1 x |
(A Y= B) ¥'=7<x C) y=x' (D) y*=Kx’
(6) A fraction in which the degree of -c;.@ﬂzf ﬂ/.'/.gngic.ej:LZy}e/:Koﬁgﬁﬂsf'/ (6)
the numerator is greater or equal to the degree of denominator is called: (A) A proper fraction /.:2.1; .
(B) An improper fraction /h,zh/f (C) An equation = !5 (D) Algebraic relation J"'d}i
(7) Aset Q={%|a,be zAb# 0} is called a set of: _§_VU<(¢: Q= {—‘-lb-ia, beznb= 0} (7)
(A) Whole numbers M!J‘[ (B) Natural numbers MICL,G
(C) Irrational number PPN AT (D) Rational numbers el P
(8) Power set of an empty set is: R t‘nJ,{u._L‘K_b{dB (8)
(A) b (B {a} ©) {¢.{a}} ©) (¢}
(9) Ahistogram is a set of adjacent. -:ﬁq.lr’z.‘ﬁu} ¥ (9)
(A) Squares ¥U>/ (B) Rectangles §Uk?” (C) Circles §us/b (D) Triangles KU
(10) In a cumulative frequency polygon frequencies -§.rtgg&u;4;ﬁduu£ o St U F5dsA  (10)
are plotted against: (A) Midpoints J,GJL.}“V/)
(B) Upper class boundaries )m&' u.éug (C) Class limits ;wfj’ lz (D) Lower class boundaries ;m[f lay s
(11) secO cotd = secO coth = _ (1)
. 1 1 sin®
(A) sin® (B) S () prory (D 050
(12) A chord passing through the centre of a circle is called: 'é"_,t'ut’(}JUUOLJfC_}(/[—é—j') (12)
(A) Radius ' (B) Diameter # (C) Circumference 5 (D) Secant Cow
(13) Aline which has only one point in common with a circle is called: et fnJ}“/J:ﬁvgJ/niv&g}bK&bug (13)
(A) Sine of a circle  Sine 671> (B) Cosine of a circle Cosine e Il
(C) Tangent of a circle  Tangent b 71 (D) Secant of a circle Secant ke /1
(14) The length of a chord and € gﬂidf/lﬂaé.;.c,}) -q:/.u.ugg,ld/mwl};u:;}b.{l (14)
the radial segment of a circle are congruent, the central angle made by the chord will be:
(A) 30° (B) 45° (C) 60° (D) 75° .
{15) A line intersecting a circle is called: -c‘.m@it‘/ (‘f’/:..}l: (15)
(A) Secant Ll (B) Tangent UV (C) Chord s (D) Diameter &
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TIME ALLOWED: 2.10 Hours SUBJECTIVE L~ 210 =
MAXIMUM MARKS: 60 M =Gz 60 = AF
NOTE: Write same question number -g.aj)u:z?..g.gvﬁz.é 6/;/:‘;?.»1/:{)!/0":4Q 6di2 . -9

and its part number on answer book, as given in the question paper.
SECTION-l s>

2. Attempt any six parts. 12=2x6 -é{fo@lﬁérﬂg’c’_&( “2-4 )
(i)  Define quadratic equation. -g:’/ - /JJc.bL»J.»» (i)
(i) Write the quadratic equation in standard form. (x+7)(x-3)==-7 -uf@:rzﬁd{kfé'ﬁb/‘@w (ii)

= x = 20,=0 NESendSE i)

(iii)  Solve by factorization. 2 _ £=20=0

(iv) Discuss the nature of the roots of equation. x’+3x +5=0 *+3x+5€0 -é/&{ruf&fz/éém’ (iv)

™) Evaluate (I-o-0?) ‘ (1-0 -0?) -.5“-/(""9‘3 (v)

(vi) - Without solving, find the sum and product of roots of equation. -SSP A ener Ku%;ﬁéd’:&btx (vi) -
=55 +3=0

(vii) Define ratio and give one exampie. ..;_’;':)Jl."'/ugulg";(_:v /ch’ (vii)

(viil) If 3(4x ~ 5y) = 2x ~ 7y, find the ratio x - y -Ex iy 29 3(4x = Sy) =25 - Ty i (vii)

(ix) fR<T?and R=8 when T =3 A T=6L& RinT =3 = R=8 4 R<T? Ji (iy
- find R when T=6
3. Attempt any six parts. 12=2x6 ~~é{/“¢§12£l'zlﬁgc,df 2340
(i)  Define a fraction and give an example. Vé;dl‘/u_ﬁulé._y /U /’ (i)
(i) Find partial fractions of 2 3 ekl (i)
‘ (x+1)(x-1) (x+1)(x-1)

(i) IX ={1,4,7,9}andy = {2,459} -FEe XUY e Y = (24,5, 9 X ={1,4,7,9y i)

then find x Uy o
(iv) Define a subset and give one example. -{:JOA’U‘ﬁ‘u@!‘é s (i
V) WL={a,b,c}and M = {3, 4} then find -ép""@ﬂu&@:LM x LinM = {3, 4} 5L = {a, b, c) i (v)

—

two binary relations of M x [

(v Find @ and p | if (3—2a,b-1)=(a—7,2b+5) ‘:/lé(}*‘ b #» a (vi)

—

EPISEL L2 4 8 e i

(vii) Find the geometric mean of the observations 2, 4, 8.

(viii) The salaries of five -ép“’w 11500, 12400, 15000, 14500, 14800 ~SSies (Ut ugu)wf&f wég (viii)
teachers in rupees are as given 11500, 12400, 15000, '14500, 14800. Find range.

(ix) Define standard deviation. _“é;:( ._y/’J_;:f}u,gu (ix)
( Zﬂ—‘ JJJ )
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4. Attempt any six parts. 12=2x6 _gfifiagrzémgcdf -4

(i) Define radian measure of an angle. M w - q - 2}7 ~ v.é/ qudqé/d;:ﬁ-

(i) Express the following sexagesimal measure of 45°30" -é&fg{,/b‘-‘l@,ud;‘(wéfé,;u.‘.'uwém’v

the angle in decimal form. 45°30’ )

(iii) Convert the,following to degree i;t— §6£ ~.é¢itﬂd)?fd5(w (iii)

(iv) Find '¢' ,when r =15mm, ¢ = 60°30' , 0 =60730"« r = 15}’..'3 ,J?.g;:(k’ L' (iv)

(v) Define zero dimension. e W)
g

(vi) Define secant. ST (i)

(vii) Define segment of a circle. _5‘; - /Uo}b.xﬁ -(g) ‘

(viii) Define circle. ,_‘é.él/m}b (viii)

(ix) What is meant by vertex? ‘ el el (iX)

SECTION-Il fy.2

24=8x3 e A el et 3 o
NOTE: Attempt any three questions but question No.9 is compulsory. |
5(A) Solve the equation 2x + 5= /7x+16 _gf:/J’fh +5= 1/7J§+16 ehle (UN.5
® o, p cn e, BIAL S e b STl X = 3x + 6=0ebs B @ S (O
are roots of the equation x“ — 3x + 6 = 0, Form an equation whose roots are o.%, P>
6.(A) If a:b="7:6 then find the value of -"ér}”.:ufd/ 3g+5b:Tb—5a m a:b=7:61 (.6
3a+5b:7b - 5a
2_ 2 _ -
(B)  Resolve into partial fractions. L 23x k. e 23x il -qfd:":j.‘fu:/dﬁz (&)
' (x-1D)"(x-2) (x=-1D)"(x=-2)
(BoAY=BU4d gt B={1,47,10} s A4={1,3,57,9} U={1,2,3, === 10} fi ()7
7(A) KU={1,2,3,~——— 10}, A={1,3,57,9} and B={1,4,7,10}
thenverify (B — A) =B'UA4
(B)  Calculate variance for the data -{:/r}‘&/, /37 §10,8,9, 7,5 12,8, 6,8 2 s ()

10, 8, 8, 7, 5, 12, 8, 6, 8, 2. )

8.(A) Verify the identities. [56¢© +1 _ sec +1 s £ 1 Secb #1. Lo wlpw (HLE
secO —1 * tan® secO —1 tan©

A A 36 AU CA « BC « AB tunluiaf i 286 AMBC (L)
(B)  Circumscribe a circle about a triangle 4BC with sides | AB| = 6¢cm, | BC|=3cm, |CA| = 4cm
9. Prove that a straight line, drawn from il rmf{;,wﬁw,z,bﬁf (s }5,-2),7:9’r c_}r/ﬁz_/’bfé o -9
the centre of a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.
OR |
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| TIME ALLOWED: 20 Minutes: OBJECT!VE u‘)/‘:ﬁ w0

MAXIMUM MARKS: 15—~ M’I*—Glra—f SR o
" fe b LI, /':deg-y'!uwc.u- ummﬁ{.mv&dw/&mw RS A DG B :Avgz.ﬁyz:dw \ -
{,g441mj ! B':..bk: / é):;-wzr't,rd,xg4 LY -&rl;jwvf?uf»gﬁulfgi.& oy t L—f@ru;/bukm cf:.o L
Nota: you have four chaices for each objective type quastion as A, B, € and D. The choice -g[j:g)" /vvir

" which:you think is corrgct, fill that bubble in: ﬂ*omof that question number, on bubblothnt. Use marker or per -

_ tofill the bubbles. Cutting or filling two or more. bubblos wilt result in zero mark In that question. No cnd_nwmbt

: .Qmﬁardad in case BUBBLES are not ﬁ&ltd."Do not solva quﬁﬁm an.this M of W PAPER. - ' / d’f ,
0.1 : A ~ 1 L

(1) Thequadraticfor ula is; : ' N G ‘_{__gﬁs‘;}w" i o
Jh - 4m‘ AT R T /—....40(‘ B -h, th* + dac b+m

(A ¥ T B e N (D) X e e

2& o . .7(1_' s s, g 2¢ _Za
SN | A aferhe oots of YIS v of ;’fvv'j‘&. 77( -x +4= () _,I:V B o /’5 @ d
.7x-x1~4 0. then aB cs" , . x ‘ ! :
e 1 ey 5. PYEY (C) ) I (D)—77- -
(3) Rootsofmeequathx -4x+l_-08fe d s > -uw’u&x’ 4x+1-0-«w ]
. {A)Real equal J:"’ e (B) Real, unequazd‘f" dat’ (C) Imagtnary o’?’i (D) iationl ded
' (4)..Tnetmraproportaonamt X and Yoo "> b, -q_‘,wwﬂ’y A W
5 B a7 hg L v il
| “"i Coan iy e NS ey o =
(5) ~lfu b=x:y. thenauemandcoropenyts SV o 5 _c..wa?na b= x: pf (5) .
| S weet PeNE= L oy LB iy “;sz;-y_ |
O S hGen t N - B e A= TR
(A)Aproper fract:on /.2; (B)An improper fraction /.,»4:/ (C ) An identity JV D)Amsﬁantterm r‘:J"" S
* (7) Hf numbef of elements in set A : -c..&ml,d\fg{ﬂut AxB nd ut B .{/:33 :tu’&}&";wf 4. wf n
is3andinset B’ is4, then number of elementsin Ax B is: .
(A3 & B4 B (¢ ~ ©) 12 :
, (8).Thedomaincfn=¢f0. 2,),(2.31(&3).(3,4» is: .c.dvxDom R #R={(0, 2),(23.G, 3),(3 4)}f .fs)'
: (A) { 0,3, 4) C L B2, (C){O 247 Oy {234}, R
Mear is affectd by chiange in® Yy y -c.c:uul 'c.é../g)/f : :fdv 8y
(A} value =f . (B)Ratio = (C)Ongmwc:‘ " (D) Ngmber s - . ¢
© {10) The extent of varistion between two extreme observations . -wlﬁ)éuwww . SR
* of adata set is measured by: v : ' ’ s
" (A)Average ko - . (B)Range = (C) Quarﬂ%es .»dAg (G}Disparsm L X B
REY SR : i ‘e 1 v
‘(ﬂ')'. Y nd " 1-sing 7 - T % . 1+sin@ Y= ene “1)
. {A) 2c08’0 . (B)sec’® ' (Cyeos® (D) 2sec’@ ol Ll
{12) Achord passing through the centre of a circle is calted A < -.;.rw’nmu.//;&&_m? 12
. {A)Secant &6k - ¢ . (B) Cnrcumferencev (C)Radlus Ub . (B)Diameter B g,
'(13) Two tangents drawn to a circle from Y . E .-u'd..r wwﬁdwuef;{ sc.ﬁd%&aﬁuf {13}
’ apomnt outside tare of* __ _in length AR : '
(A) Half wid (B) Double &3 - h (C) Tr:pbe 154 (D) Equal

{14} An arc subtends a central angie of 40" then  .ctw
- the correspondlng chord will subtend a central anglé'of

md,/m«w’.,ﬂ - 40° ,:ud&?gix oy

>

. ,A) 80" ) . (B) 60° : . (C) 400 . D) 20“ A | -
(15) How many tangents can bedrawnfromapoxnt outside the circ!e’? i wé&#w&f«.yﬂ&.ﬁ (15) -
B AP L@ e s eyt SN

32(0*’")‘*),‘2022“)'49000'(’*ULTANi i
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'zm/,mmﬁmu(ww waid

MAXIMUM MARKS: 60 -~~~ M ,,Q,.-q )_..

- NOTE:  Write same question number 4L £ MIF,
' and lts part number on answer book as given in the quesﬁon paper.
2 Attempt any six parts. 1 2% z X e . é(jvwéxz@c.éf ~2/“U’/
(i) Solveby factonzatuqn s x- 20 0 R x-x-20=0 -ﬁd'df..;‘;& ‘(i')‘ .
;‘(ii) b.Defme\ exponentialequa_;ion. i 70 \ s w0 B .gf.ﬂf'J.:-uLaduvl (ji)f
;mj Salve bny.smg, quadratic'forr‘r’im»a.‘24._; » _ T > UL : i x = 7x -éd’;leLurzﬁ&J:iz »(m)

o

(iv) Find Ithé &iscrimiﬁant Qf given d_dadréﬁc equabon : 2x ¥ 3x 5 I = - -éﬂ”uﬁ ﬁbtﬂduu (iv)

{wi) Find the cube roots of "~1"

f (V)  Without solvlng. find the siim and the pfoducts of K-Sy 43= 0 érs"‘,«ﬁd‘bmf (J»Mﬂuwzw (v)' :

, the roots of the quadratic equation.

\

/ - " c ,{;’r}"‘,ﬂu?f“ l" . Vl)

(i) Siate theorem of componendo-dividendo. | . i{waﬂdﬁ-—{ )
(N, Tt 6 L ::3:’5,..' L, WL Y oh i ér}" ' 6rx 3 5/ (vm)
B AR S HASTL RER 0 g pad o AT A«::ﬁf'ﬁ R

whenr 3find wﬁen A= Y0y B :
,3 Attempt any sux parts Y 12=2x6 . ‘-;ﬁ’,ﬁdu,,g:m,«c,d; 3,@,_

' (i) Resolve into partial fractions -;L.] £ - s ' . ._........xz -éJw:Mﬁz “(_i) :
r " y I Al ) . - ¥ T
@) Defreparialfractons. LIS ~é~ef6 Apn .
Gi) I X =, ¥=2"thenfid XUY L g XUY oY A /*) X< 4.} dy

(v 1A=10,2,4)and B={—1,3} thenfind A x B A% BIB={-13}4 A={0,2,4)/ W)

Wi Frginesets & ano ) N y";;,{(a, a), (b, a), (c, a’),_'kd', a)) -7 N S
(Vi) Deﬁneaiqncﬁon. . ; o e ' ' -é.aiJJc? (Vi)

(vil) Define frequency distribution. R e L L EaAEGS i
fviii) Write two propemes of anthmetfc mean. -~ _ _ ;!tbr‘);ﬁofdv (i)
(%) Fmd the sange o s Tollowing weights of students' A . L (D) ...»«Juwz:.w‘zw )

: 110, 108, 84 s, 77 104, 74, 97, 49 59, 103 62
L |




~E (2)
4 Attempt any six parts ‘§2 =2x6 :f://VUiLVli:..Jf .4/00!

: (ﬁ) "'Fmd tan® when cs8 =% and r#' tand m,;fé;é:zuld@fs’ 6 # ‘c0sB ——l- ff (i

termmal s&de of the angle 6 isin fourth quadrant, ) .
(i Prove that (1-7in%8 ) ( l.+'1a_1120) =1 (1= sin’e")( 1+tan’0) =1 Iq‘);.b iy -
' £ =S52m, 9= 45° Gy lppc i 'S (i»))-
1 iFGie @)
R (% (7Y S W

| . ;Vr".g/Ug;L;.;:; i
5 _ Laflmde (vnir ]
?;nd s perimeter. -3k fq.f'séy;,(d_’éff,-( (ix)
FION-Il 1022

Y g;jf,«dgéffuwéuwrdodf e
; 'uewmz NoJ9is compulsory ‘

¥ -u’fd’f 2x+ 5=x + 16 -'.:L"- (-»‘"»)15, ‘

“{iv; Find r' when. £ = 52cm, 0 = 45"

" Define Acute angle.

(#)- Define tanigent to a circle.

() Dé_ﬁne circumference of a circle.
- {iii) Define the escribed circle. -
(,ix} The length of the side of a regular pentagon is Sem,

SEC]

| - 24=8x3
. 'OTE Attempt any three questwns bi

.(A_)' Solve the equauon x+5= ﬁx +16

[ (B) fa gA arethe - ;,-’fry‘”.si&l l :unu’u[, 4x° -5x+6 0 e [3 . O f )
b roots ofthe equaﬂon4x - Sx +6 =0 then ﬁnd evalueof 2 + «l~
. ’ o ;
6.(A) Using thearemof Ly x _'--~--'V—.2~. fz,i;?b’vn{ Xt iv' iié—l ¢ m_./uwt.vﬁ}.“;u’/.b' ()6
_ y -2 x-2z R
componendo-dmdendo ﬁnd thevalue ofx L f—i-gi T
-2y pr- 2z y+z

| (B) Resolve ln;o partial fractions i«,w‘) T3 4 m s{&k‘? LnlSiz Cg) -
B={1,47,10} s Al={13,579} . U={1,234 .--.,-,wm}/ (.7 -
1O WU ={1,2,3,4--===10}, A=(1,3547,9} - B-A=BNASEorh

| and B={1,4,7,10} thenverifythat B — A BN A’ : e
By The following frequency distribution shows the 'hts .gl.{.p"’uk -4_1'.4};;(5:?’(1(!;;‘ )cﬁhlﬁuﬁﬁﬁ}_}au O,
| of boys in kilogram. Compute the mode. ;SN D g g
Classintervals »w(lz | 1-3 | 46 |} 7-9 | 10-12 | 18-15 | 16-18 | 18-21 |
Frequency .-,:w? : 2] 3 |Es | 4 8 2- 1.t ]

© 8iA; - Verify the identity |- rcosd | sind -, o4
P sin@ 1 + cosO .

‘l+cose ’ " 5in® =2¢DSecO-5£~'-’<?fJV (J’)«e
sinf l+c 9 ‘ b e o

= s Lwﬁu&xuuugw ABC sifel 4 e (_,)

Kw;—: -ust ]CA* =¢ 3 a4|BC| =( 3:|4B|=

.| (B)  Estribe acircle opposite to vertex A toa triangl ABC wnh sides{ AB|=6em, - . EPSS
: | BC! = 4em and l CAl= 3em. find its radius " 0. | e dhn h

9 Prove that the chords of a circle which are ‘_,ugujwﬂguwwrd,w.;&z;;»&Ju.@_/.».;e £

equvd'stant from the centre are congruent ; : : i

: CBOR L o :

b o that any two ahgies in the same Seg_ment Lt Un O shbh Slirg S Sk

of a circie are equal. - : 2
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